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£ FEE 0...10bar...50bar ...100bar...400bar...1000bar
HEEA 150% F.S (B47%5)
WIRE S 200% F.S
¢ ¢ L, HURIERE M20x15, G1/2 , NPT1/2, NPT1/2 A
17 R A BSEE HEsI%
TiEHBE 18...36 VDC
Yo BEICINTIL B8 B RR SUS316L
% A%, BT
* BERE WhS%
MEES 4..20mA, 2 %4, HHE
Y EARERILES <+0.5%F.S
pm AN <+03 %F.S
Y Al T <+0.1%F.S
JELtE <+0.25%F.S
* BEFSLIS. K SR <+0.05 % FS
=8 <+40.05 % F.S
fija) [z B 18] <10 ms
KERRR E M <+0.2 % F.S typ. / year
MESH
MERE -20...+70°C
NERRE -30 ... 4100 °C
IMERE 20 ... +60 °C
EERE -40 ... +100 °C
i E 50g, 11ms
EN 60068-2-27
i 4fRzh <20g
EN 60068-2-6 at 10 ... 1000Hz
BRI >100MQ at 100 VDC
PR ERRExd |l CT6 GhER
BrIPELR IP 65
HitbSH
REME ~25Nm
BFERIR ~30 mA
EREG® > 10 x 107 )%
10...90 % F.S
EhmEE ~3008
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